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Class-9 Topic — Logarithm

Section A (1 marks)

Evaluate the following without using log tables:

log 81 [4
" log27 3
log 128 7]
log 32 5
Section B (2 marks)
Evaluate the following without using the tables :
1
3.210g5+10g8—510g4 [log10%2 = 210og 10 = 2]
4.1og8 + log 25 + 2log 3 — log 18 [log 10?2 = 21log 10 = 2]
5.1 e 21 2 +1 32 log 2
log 7o —2log o +log—— [log 2]
3 1
1. 510g2+Elog25+zlog49—log28 [3log 10 = 3]
Iflog;o 2 = a andlog;y 3 = b; express each of the following in terms of ‘a’ and ‘b":
2. log12 [2a + D]
3. log2.25 [2(b —a)]
4, log54 [a+ 3b—1]
5. log60 [a+b+1]
Section C (3 marks)
6. Iflog,ox = p andlog;,y = q, show that xy = (10)P*9, [xy = (10)P*9]
7. Givenlogiox =a,logioy =b,
() Write down 102! in terms of x. [10x]
(i) Write down 102b in terms of y. [v?]
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(iii)  Iflogyo P = 2a — b, express P in terms of x and y. [P = x;z
Iflog2 = 0.3010, find the value of log7—5 - 210gE + log 32 [log2 = 0.3010]
16 9 243
Express log;, Y108 in terms of log;, 2 and logy, 3 [% [2logqo 2 + 31logqp 3]]
Iflog2 = 0.3010 andlog3 = 0.4771, find the value of : log V24 [0.9005]
Evaluate the following without using tables: logo 8 + logg 25 + 21logg 3 — log1( 18 [2]
Express log;y 2 + 1 in the form of log¢ X [logqg 20]
Ifx = (100)3,y = (10000)? and z = (10)¢, find [1+ 2b —4a — 3c]
log 12 3 in terms of a,b and c
X%z

Evaluate : logy 32 — logys 125 + log 27 [14]
Show that: log, m +log,, m = loga m

logap m

Iflog(x? — 21) = 2, show thatx = +11

Section D (4 marks)

If, log (%)= % (loga + logb); show that% (a+b) = Vab

b
Iflog(a + b) = loga + logb, find a in terms of b. [a= E]
a
Prove that: (loga)? — (logb)? = log (E) .log(ab)
a-b 1
Iflog — = 2 (loga + logb) show that a? + b? = 6ab.
Find X, if : loglo(X + 1) + loglo(X — 1) = 10g10 11+ 2 10g10 3 [X = 10]
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